PRODUCT
GRS SINGLE SIDE GRID RACK

MATERIALS INFORMATION

Grid rack single side frame

5' grid rack supportbars

5' grid rack side bar

1-5/8" 14-18 ga. round ribbed insert
3/8" x21-2" Cariage Bolt (Zin)
3/8"Kep Nut(SS)

3/8" Zinc Plated Washer

POWDER COAT OPTIONS

[] @ Black

GALVANIZED FINISH ¥

D Galvanized

MOUNTING
[[] Surface Mount  []

(&frr&-{u
™

e }._
LAG BT
COMCRETE

Free Standing

SURFALE FLAMOE WOuMT [BF)

63 3/4"

8 114"t

2 3/4"~

30
26 1/4"

12"

>*
= Additional Cost

Rack Quantity:

Approved Date:

Approved Signature:

1-800-722-BIKE (2453) | sales@duracore.com | www.duracore.com



